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@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA

B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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® 6m?
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HOE m?® 2 1HA Bl
@ 6m?

@ 5.3m?

® 900000 cm® = 0.9 m?
@12x1.2%x12=1.728m?
®1%x05x2=1m?
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(F1) = (712) x (A&) x (¥&°]) o|B=
Tx7x[ |=147

[[]=147+49

l:’ = 3(cm)
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@O F1=0°] F

[ ]x3x6=180cm?

[ ]=180+18
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(bx2)x2+(5+2+5+2)x4
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@ 4x4x6

® (4x4)x2+ (4x4)x4
@ (4x4+4x4+4x4)x2

@ Axd+4xd4+4x4+4x4+4x4+4x4
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= 54 + 72 = 126( cm?)
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42420 x| | =142
20 x[_]=100

[ ]=5(cm)
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(BHol)= (9x12)x 2+ (9+12) x2x[ | =804

216 + 42 x|_| = 804

42x[ ]=588

[ ]=14(cm)

(F3]) = 9x12x 14 = 1512( cm?)
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2.5m = 250cm, 1.5m = 150 cm,2m = 200 cm
7IE, 2ol ZelE 30 02 W

(7F2): 250 + 30 = 8.33--- — 8(7H),

(A=2): 150 =30 =5 ()

7tz 8 7, M= 5 707t

EY £ 9lenz 8x5 =40 (h) 7 AU
LolZ 30 o= Y

(%0°]) =200+ 30 = 6.66--- O|2&

65< %= 4 AsUTh

e § x5 x 6 = 240 () 9& 4 A&Uch
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2m = 200 cm — 200 + 20 = 10 (7N
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~6em ” “5em”
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(Ao 24Eol) = (*F "o Hol) x6

—

AsHA o] Z4ol)

Zylo]) x2+ (g4 ol)
=(Bx4)x24+(B5+4+5+4)%x8
=20x2+ 18 x 8 =40 + 144 = 184(cm?)
ZA0]o] g = 216 + 184 = 400( cm?)
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» E cm?

> Hehl 8000 cm?

FeAAE BE 229 Zol7} Zotof gy
7P A2 Aol o mA 9] AolE 2,4,59] FagHis

g 2 AE]e] dol 20 cmo]| B & AL WA o] Hul=
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HED 15m

@ =% © 300 % 300 x 300 = 27000000( cm?)
wh2bA] 27000 L
1 2o 10L A Y4222 27000 + 10 = 2700(&)

@ 259] &°] : 600 x 300 x|_] = 27000000

|:| = 150( cm)
wHebA] 150 cm = 1.5m
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cm? YY7k?

[e]

p  E: cm?

> ®eh 96.cm?

~&B ~

2t HewA 27 /|2 qhE = =
722 37, AZZ 370, Folk 3502 &S AU
2o 4R 9] Yol g [om? 22 5
([CIx6) x27- ([ ]x9) x6 = 1728

[ ]x162-] ]x54=1728

[ ]x (162 - 54) = 1728

[ ]x108 = 1728

[ ]=1728 =108

1=
o
22 A=A Y 2ylole
X

6 = 96( cm?) JH}.
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» g cm®

> ®E: 352cm®
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CrR+AZ) 71572 5 e
(1,14) (2,13) (3,12) (4,11) (5,
o] T (ZIZ)x(MZ) 7t 447} =
EF[ JE golety £,
(@Wol) =(4+11+4+11) x[_|= 240,
Z, &ol[_|=8(cm) Yyt

(F1])=4x 11 x 8 = 352( cm?®) 7} HYt}.

AEE (1=, AR) E e E
10) (6,9) (7,8) ¥4tk
= AL (4,11) JYtt.




